[[Nof reco track vs dxy(PV) ]

[ of associated (recoTosim) tracks vs dxy(PV) |

N of associated (recoToSim) looper tracks vs dxy(PV)

1%} F 9] F %] [%]
x r . . x r X F X
I SR & ool g I g
= 10°F o e 5 10°F 5100k E
3 . . o F @ E I
[ H N =4 F = E ©
10°F 7 T 10 sor H
10 5
10°F 10°F
E E 10%E~
10°F 10°F F
10k - i 10
o o« o s . o
T T T : T
@ x @ . x
J| - ..
. . 0.95F - - -+
0 ; . HEH I 0 HERHE HENH P S S R
=20 15 10 -5 0 10 15 20 =20 -15-10 -5 0 5 10 15 20 =20-15-10 -5 0 5 10 15 20 =20 -15-10 -5 0 5 10 15 20
A\ P p track dxy(PV) (cm) track dxy(PV) (cm)
N of reco track vs y(PV)
2 F 2 B 2 e F
8 8 : 8 &
5100k R = =1 B
e F 210° o |
: g g g
10°F 10%f---+- s
E E B °
E Eoo: 10?
10°F S 107+
b : Eo T T I IO oo 0 | I G o
10 ; 10E---i-
13 i U - 1
g wwf ' g+ o 2
g : g 8 105 8
- L -y BB e - ;15 st R R H LLEEE RERT I o= v eeeeewenreir o« EECEEEE T
o : ' 0.95 .-r B -
H 1 H
099 8-0.6-0.4-0.2 0 0.2 0.4 JG 0.8 08 06—04 -02 0 02 04 06 08 29806 . 06 0.8 0.2 04 06 0.8
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper tracks vs dz(PV) |
9] 2] [%]
] ] 3§
g 8 8
<= 10°F s ]
(5] E o 10 Q
g s g
10°F Er
E T
F 10?
10°F-
F 10
10
1 A - - 1
9 PV " ! 9 L.uof 9 L.V 9
AR - : :
@ x 14 x
] 1
09835 30 0¥ 20 -10 0 10 20 30 0¥ =20 -10 0 10 20 30 %3520 -10 0 10 20 30
track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper tracks vs dz(PV) |
2] 1%} %] (%]
X x o X X
Q Q Q Q
8 o g g
B gy 2 F
s ] 8
a
pm}
k=]
2 2 g il i)
: ¢ A IiI :
g g i il
o T TN AR e A
-1 -0.5 0 0.5 1 -1 -0.5 0 0.5 1 -1 -0.5 0 1 -1 -0.5 0 0.5

track dz(PV) (cm)

track dz(PV) (cm)

track dz(PV) (cm)

track dz(PV) (cm)



	Contents
	Page 1


